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Answer briefly any Six parts from the ﬁillowings.
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Answer briefly any Six parts from the followings.

Find the 1L.C.F by tactorization }.’2 H5x+6 I2-4I-'|2

y , o ox=3 x-2
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Decfinc Absolute value?

Find the value of “m” and "c” by cxpressing them in

the form of y=mx+c Ix+Ty=—4

Draw the graph of x = =3

Find the mid poinl between two poi.nts A(7,-2)B(-3,5)

Deline Isosceles triangle?

State 8.ALS postulate? P
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~ Note: Aftemptany Three Questions.Q.9 is compulsory

Use log table to find the value of

X j

7.,  Forwhat value of'm is the Polynomial
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Answer briefly any Six parts from the followings. pami2 o ez Limge $le Bt AL Ny
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Find the vzlue of £and m for which the following expression

will become Perfect Square. X* +4x° +16x" +lx+m a1 165 +lx+m
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et B RLnn L fiis Sigay 29

Prove hat any point inside an angle, equidistant from its
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Prove that trigagles on the same base and of same (i.c .cqual)

RPN P ..q'.‘i‘ﬂdl:{...i’h‘: a1 K0 ] s kil
Jj)‘.w.dr: ol :J|Uﬁgr:{'ﬁ5'[5‘vc_.i E;Ebd:l!é’:-flf

- U'){4|j.'vf. _:’..-n;'t_,'.ﬂ

arms, is on the hisector of it.

altitade arc cqual in area.

922 - 0924 - 69000



